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1. Constructing a Congruent Angle
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Given: £QWT and £TWX are complementary.

Prove: x =28
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Given: £1 and £3 are supplementary.
£2 and £3 are supplementary.

7. Prove: 1= /2
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8. Three lines intersect in the figure shown.
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What is the value of x + y?
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9. Find the values of x and y.
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What is the measure of LACB?

M<LACR =5¢

k4. Whatis the value of x in the figure?
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19, For which value of x are lines g and h parallel?
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Prove: zc = <k
Complete the following proof. k
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Given: ) i 1, ; 22 = £4

Prove: 21 =24 and 24 = £3 ‘
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17. £X and £Y are supplementary. One angle measure 6 times the other angle. What is the

complement of the smaller angle?

MLX + MR =180 Ledmex =X, meY=lx
X +lLx =180
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